Non Sibi High School

Andover’s Chem 250: Introductory/Basic Chemistry

Chapter 18, Review Quiz 1 Answers
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Sketch a completely-labeled reaction energy profile (reaction progress diagram)
for an exothermic reaction. Indicate any effects a catalyst would have the sketch.
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The following mechanism has been proposed for a reaction:
Step 1: NO3 + NOy; — NO3 + NO
Step 2: NO3 + CO — NO3 + COq

Identify the intermediate and write the overall balanced equation for the reac-
tion.

NOs is formed in the first step but then consumed in the second step, so NOg is
the intermediate that cancels out of the overall balanced equation NOg + CO — NO + COs.

This work is licensed under a
Creative Commons Attribution-NonCommercial-NoDerivs 3.0 Unported License
Contact: kcardozo@andover.edu



http://creativecommons.org/licenses/by-nc-nd/3.0/deed.en_US

